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ﬁ;ﬂg TREOBEBOEILEHOKRES TREOHBEILNOKRES TEFEOBRBOEILHOKRES TREOHBSSLADKRES
7 100kN/m%#8z5 | 1.00 | 000 ~ 092 11373 |3m&x#Bz3| — ~ — — — | 100kN/m%#z25 | 1.00 | 1249 ~ 1723 113.73 |3mE#z3 - ~ — — —
st 1.00 | 092 ~ 870 100.00 | =nhstr | 000 ~ 870|211 10.65 Thst 1.00 | 5.00 ~ 1249 100.00 | =hSt | 6.00 ~ 1723| 211 10.65
2 100kN/m%E#8z5 | 1.00 | 000 ~ 090 11343 |3mE#Bz5| — ~ — — — | 100kN/ %825 | 1.00 | 1224 ~ 1656| 11343 |3m&E#Z5 - ~ — — —
zhLst 1.00 | 090 ~ 868 100.00 | #hst | 000 ~ 868|212 10.71 znLst 1.00 | 5.00 ~ 1224 100.00 | #ns | .00 ~ 1656 2.12 10.71
3 100kN/ Mz 25| 1.00 | 000 ~ 006 100.82 |3m&x#z3| — ~ — — — | 100kN/m%&#z25 | 1.00 | 11.59 ~ 11.78| 100.82 |3m%E#z2 % - ~ — — —
st 1.00 | 006 ~ 784 100.00 | =nst | 0.00 ~ 7.84 | 1.99 10.07 Thlst 1.00 | 5.00 ~ 1159 100.00 | =hst | 6.00 ~ 11.78| 1.99 10.07
4 100kN/mM%{BZ % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3mZiBZ % - ~ — — —
st 1.00 | 0.00 ~ 716 90.98 | =nLs | 000 ~ 000\ 1.77 8.93 Thst 1.00 | 5.00 ~ 9.04 90.98 | =ns | .00 ~ 9.04| 1.77 8.93
5 100kN/mM#{BZ % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Lt 1.00 | 0.00 ~ 546 6817 | FnLSY | 000 ~ 0.00| 1.62 818 st 1.00 | 5.00 ~ 6.20 6817 | Thst | 6,00 ~ 620 1.62 818
p 100kN/mM%E#BZ % — - ~ — —|3mZEB2B| — ~ — — — | 100kN/ Mm% %% — - ~ — — | 3ImEBZD - ~ — — —
ZhLst 1.00 | 0.00 ~ 5.91 73.96 | #hs | 0oo ~ 0.00| 1.69 8562 znLst 1.00 | 5.00 ~ 6.73 75.96 | EnLS | .00 ~ 6.73| 1.69 8.562
. 100kN/mMZ#2 2 % — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — | 3m%E{BZ S - ~ — — —
ThnLst 1.00 | 000 ~ 717 91.11 | =nst | 000 ~ 000 1.76 8.92 Fhst 1.00 | 6.00 ~ 9.06 91.11 | #hst | 6,00 ~ 9.06| 1.76 892
P 100kN/MZ#2 2 % — — ~ — —|3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — | 3mERBAB - ~ — — —
st 1.00 | 0.00 ~ 6.26 7865 | Ths | ooo ~ o000\ 1.72 8.70 FhLst 1.00 | 6.00 ~ 7.29 78.65 | NS | 6.00 ~ 729 1.72 8.70
9 100kN/M%#2Z % — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — | 3m%E{BZ S - ~ — — —
st 1.00 | 0.00 ~ 7.45 95.13 | =nLst | 000 ~ 000 1.73 877 Zhst 1.00 | 6.00 ~ 973 95.13 | #hS | 5,00 ~ 9.73| 1.73 877
10 100kN/ MZ#2Z % — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — | 3m%EHBZ B - ~ — — —
st 1.00 | ooo ~ 726 92.51 | =nLs | 000 ~ 000 1.74 8.81 Fhst 1.00 | 6.00 ~ 929 92.51 | #hst | 6,00 ~ 929\ 1.74 881
11 100kN/ MZ#2Z % — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — | 3m%E{BA B - ~ — — —
st 1.00 | 0.00 ~ 6.12 76.75 | Ths |ooo ~ 6.12| 1.92 9.70 Fhst 1.00 | 6.00 ~ 7.50 76.75 | NS | 6.00 ~ 7560 1.92 970
12 100kN/MZ#2Z % — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — | 3mE{BZB - ~ — — —
FhLst 1.00 | 0.00 ~ 4.20 52,47 | =nLs | 000 ~ 420 2.06 10.40 Fhst 1.00 | 6.00 ~ 6.19 52.47 | #FnS | 5,00 ~ 6.19| 2.06 10.40
100kN/ MZ#2Z % ~ 3mEHBRD ~ 100kN/ Mm%z 5 ~ ImEREZD ~
Thsn ~ Thsn ~ ZznLst ~ ZznLst ~
100kN/ MZ#2Z % ~ ImEHBRD ~ 100kN/ Mm%z 5 ~ ImEREZD ~
ThLlst ~ Thilst ~ ZnList ~ ZznLst ~
100kN/ MZ#2Z % ~ ImEHBRD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ zhsn ~ ZznLst ~ ZnLst ~




